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jons:
1. This question paper consists of TWO sectio

SECTION A

QUESTION: 1 RURALAND
QUESTION: 2 ECONOMIC GEOGRAPHY 0

ENTS (60)

SETTLEM
UApAY OUTH AFRICA (60)

FS

SECTION B —
QUESTION: 3 GEOGRAPHICAL SKILLS AND TECHNI

ANSWER BOOK provided

Answer ALL THREE questions in the
N PAPER.

ALL diagrams are included in the QUESTIO
ns answered.

Leave a line open between subsections of questio

Start EACH question at the top of 2 NEW page-

rding to the numbering system used in

o o & w N

Number your answers correctly acco
this question paper.

Do NOT write in the margins of your ANSWER BOOK.

~

8. Where possible, illustrate your answers with fully labelled diagrams when

instructed to do so.

9. Answerin FULL sentences except where you have to name, state, identify or

list.

10.  The unit of measurement must be given in the final answer, where

applicable, e.g. 10km, 4°C, east.
11.  You may use a non-programmable calculator.
12.  You may use a magnifying glass.

13.  Write clearly and legibly.
SPECIFIC INSTRUCTIONS AND INFORMATION FOR SECTION B

14, A1 : 50000 topographical map 3325DC AND DD and 3425BA GQEBERHA (PORT
ELIZABETH) and a 1 : 10 000 orthophoto map 3325 DC 23 GQEBERHA (PORT

ELIZABETH) are provided.

15. The area demarcated in RED/BACK on the topographical map represents the
area covered by the orthophoto map.

16. Marks will be allocated for steps in calculations.

17.  You must hand in the topographical and orthophoto map to the invigilator at the
end of this examination.
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Geography P2

AN §
GEOGRAPHY OF ETTLEMENTS AND THE ECONOMIC

SOUTH AFRICA

QUESTION 1: RURAL AND URBAN SETTLEMENT

1.1 Choose the concept / term from
COLUMN A. Write only the letter

OLUMN B that matches the statement in

YorZ)n i
(11.110 1.1.7) in the ANSWER B( ) next to the question numbers

September 2024 Preparatory Examination
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OOK. eg.1.18 Y.
COLUMN A COLUMN B

111 Thg maximum distance a customer is Y range

wulllng.to travel to buy goods or to use Z threshold

a service.
1.1.2 Goodq that are used almost daily and are | Y high-order

found in most pes of settlements. Z low-order

Describes the ranking of urban areas Y urban morphology

- fdnlg @m&e and degree of Z urban hierarchy
_ Specialisation of the function.

1.1.4 An um service centre suppling goods

and ser

ces to the surrounding rural

Y central place
Z rural hamlet

5" Fewerin number, draw people from
further and offer more specialised
services.

Y cities
Z towns

Refers to the number of customers a
business needs to be profitable.

Y threshold population
Z urban population

The area from which a business draws
its customers.

Y local service centre
Z sphere of influence

(7 x1)(7)

Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A — D) next to the question
numbers (1.2.1 to 1.2.8) in the ANSWER BOOK, for example, 1.2.9 D.

1.2

1.2.1 The location of a settiement in relation to the surrounding area is referred

toas...

A site.

B distance.
C relief.

D situation.
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water|is ...
122 Awet-point settiement is located .- water because

far from; scarce
far from; a thread
near; a thread
near; scarce

oo w>

a ... shape.
1.2.3 Settlements along a mountain range generally have

A semi-circular
B Cross
C linear
D circular

; i ent.
1.2.4 The following physical factor determines the site of a settlemen

s.to .nspon

ere one mode of transport is replaced

1.2.5 s ment is located wh .
t is found in gaps between hills.

by another whilst ...settlemen

(i) break of bulk

(i)  gateway
(i)  defence
(iv) linear

A (i) and (i)
B (i) and (iii)
C (i) and (iv)
D (i) and (iii)

126 A...settlement develops at the intersection of transport routes and a ...
settlement develops around a focal point.

(i) linear

(i)  crossroads
(iii)  bridging
(iv)  circular

& (i) and (ii)
B (ii) and (iv)
C (iii) and (iv)
D (ii) and (iii)
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ettlement there is ots of..

- and an increased risk to ...
because of the isolation,

(i) privacy

(i) sharing

(i)  safety

(iv)  profit

A (i)and (ii)

B (ii) and (jv)

C (i) and (jii)

D (ii) and (i)

1.2.8 The economic sec

A Primary and multifunctional
primary and unifunctional
C secondary and multifunctional
D secondary ang unifunctional (8x1)(8)

T ko
Please 1y
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.urban migration:

1.3 Refer to the sketch below on rural

ple-to-urban-areas]

[https:ﬂur.javamem.comfpicturesfmigration-of—rural peo|

1.3.1 State TWO reasons from A that cause people to leave rural areas. (2 x 1(2)

1.3.2 Identify ONE economic pull factor in B that causes rural-urban
migration. (1x1)(1)

1.3.3 Explain why rural migrants experience difficulty in finding

employment in area B. (2x2)(4)
1.3.4 Suggest TWO sustainable strategies that could create more

employment opportunities in rural areas. (2x2)(4)
1.3.5 Why do rural settlements experience negative economic impact

as a result of rural depopulation / urban migration. (2x2)(4)

Copynght Reserved
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Refer to the urban land-use map below,

14

141

14.2

143

144

1.4.5

Socioeconomic status: H - higher income
Il csD Sl
- - M - middle income
(/// Transition Zone L - Lower income

=7 Industrial

SR

B Neighbourhood shopping centre

[Adapted from: http://people.uwec.edu/ivogeler/Travel/Southern%20Africa/aparth3.gif]

Identify the land-use zone at A. (1x1)(1)

Discuss TWO problems experienced in land-use A that have led
to commercial functions leaving. (2x2)(4)

Why is the transition zone (label B) generally dilapidated (poor
state) despite high land values? (1x2)(2)

Explain why the neighbourhood shopping centres are attractive
for the relocation of commercial functions. (2 x2)(4)

Explain why low-income residential areas (label D) are often
located close to industrial areas (label E). (2x2)(4)

Copyright Reserved Please Turn Over
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1.5  Refer to the extract below on informal settlement.

ted near Spring

The Kennedy Road informal settlement is loca along a

een

settlements in around Durban (eThekwini) that
quality of the life in this settlement is very poor Su

£ 8 Fowgs ¢ e
necessities like water, sanitation, solid waste manag
ople as we

at serious risk. This increases the risk of
degradation.

[Adapted from Town and Regional Plannin

field Industrial Park
land-fill site where

where employment opportunities are plentiful, andthe oo b e
sl ekl bt L R e ; is one of the several informal
formation and development of the settlement. hl; \';Sé e Bt e condiions. Th
ch that basic services and
ment and electricity are
|| as the environment

seriously lacking. This places the health of the pe liseases and environmental

g thesis of Zinhle Mbanambi UKZN]

1.5.1 What is an informal settlement?

1.5.2 Quote a reason from the extract for the driving force behind the
formation and development of the Kennedy Road informal

settlement.

1.5.3 Why is the health of people living in informal settlements at a
serious risk?

1.5.4 How do people living in informal settlements contribute to
environmental degradation?

1.5.5 In a paragraph of approximately EIGHT lines, explain why the
Durban (eThekwini) municipality has failed to assist people living
in informal settlements.

opynght Reserved
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QUESTION 2: ECONOMIC GEOGRAPHY OF SOUTH AFRICA

2.1 Various options are provided as i i
. possible answers to the following questions.
Choose the answer and write only the letter (A - D) next to the q%gstion
numbers (2.1.1 to 2.1.7) in the ANSWER BOOK, for example, 2.1.8 D.

2.1.1 The supply of electricity in South Africa forms part of the ... economic

sector.

A primary

B secondary
C tertiary

D quaternary

2.1.2 A physical factor that hinders industrial development in South Africa
.

labour unrest.

unreliable electricity supply.
erratic rainfall.

shortage of skilled labour.

oo w>

2.1.3 The ... of a country refers to the total value of goods and services
produced in a country in one year.

A 0duct
B al product
C onal product
D lue-added product
2.1.4 ... industries are located close to the customer.
A Raw- material orientated
B Break-of-bulk
C Market orientated
D Footloose

2.1.5 Light industries are characterized by ...

(i) proximity to bulk transport facilities.
(i)  being close or in the CBD. .

(i)  being ubiquitous

(iv) little pollution and congestion.

A (i) and (ii)

B (i) and (iii)

C (i) and (iii)

D (ii) and (iv)
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2.1.6 A social factor that favours the location of the Durban"

industrial region,

A Flat land

B Abundant water
C  Dense population
D Cheap power

contributions made to South Africa's GDP:
(i)

(ii)
(i)

Primary sector contributes the least.

(iv)  Tertiary sector contributes the most.
A (i)and (i

B (i)and (iv)

C (i) and (iii)

D (i) and (iii)

2.2

in the ANSWER BOOK. e.g. 2.2.9 Z.

TWO statements below are TRUE with respect 10 ¢

Pinetown core

he sector

Secondary sector contributes the least.
Quaternary sector contributes the most.

(7 x1)(7)

Choose the concept from COLUMN A that matches the statement in
COLUMN B. Write only Y or Z next to the question num

bers (2.2.1 t0 2.2.8)

country from another country.

COLUMN A COLUMN B
2.2.1 Buying and selling of goods and services. Y trade
Z quota
2.2.2 Commodities or goods brought into a Y export
Z import

The difference in value between a
country's imports and exports.

223

Y balance of trade
Z balance of payment

2.2.4 Goods traded within a country.

Y local trade
Z international trade

225

An arrangement between countries

Y trade blocs
Z trade agreement

with respect to trade. «
The value of imp
value of exports.

2.2.6

3l businesses.

2.2.7 Refers to legal, reg

'Y formal sector

Y negative balance of trade
| Z positive balance of frade

' Z informal sector

Transport and communication links between
major industrial areas.

228

Y SDI
'Z RDP

Copyright Reserved
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2.3  Refer the infographic on coal mining in South Afrc
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& COAL MINED

Free State

NUMBER OF PEOPLE EMPLOYED BY SOUTH AFRICA'S COAL MINING INDUSTRY
FROM 2011 TO 2022

100,000

i 92,670
89,647 91,649 * 90,977

7 s 82,372
- 558 77,747 77,259

60,000

Number of emp loyees

°

mo rept,

2002902013 2014 2015 2016 2017 2018 2019 2020 2021 2022

S - el

[Source: Statistica 2024]

Calls to decrease the world’s dependence on coal as an energy source are well intentioned. Lower use
would reduce greenhouse gas emissions, and less demand would lower the environmental risk of coal
mining. However, as the world moves away from coal, South Africa will need to consider the
implications. The country depends heavily on the mineral as a source of economic value, employment
and energy. With an estimated 116 years of proven coal reserves remaining, the mineral is set to remain
a valuable resource for South Africa’'s economy for as long as demand remains. South Africa is the
world’s seventh-largest producer of coal with an output up by 12% in 2023 and is expected to rise by
0.74% between 2023 and 2026. More than a quarter of coal mined in South Africa is exported, most of
which leaves the country via Richards Bay. Coal is South Africa's third largest source of foreign
exchange; platinum being the largest and gold second. Around 15% of the co’untry's GDP is spent on
energy. Coal is South Africa's dominant energy source. 77% of South Africa’s energy peeds are
provided by coal, according to the Department of Energy. Eskom produces 95% of electrtqﬁy used in
South Africa, and its coal-fired stations produce about 90% of electricity produced by the utility. I_t must
be noted, however, that global output through 2030 will be impacted by coal phase-out by top miners.

Source:https://www.mining-technology.com/data-insights/coal-in-south-africa/?cf-view
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2.3.1 Refer to the map above, which province accounts

2.3.2

2.3.3

2.34

2.3.5

2.3.6

September 2024 Preparatory Examination

12
loaded from Stanmorephysics. com
for the highest

(1x1) (1)

coal production?

Calculate the difference in the number of people employed in (1x2)(2)
the coal mining sector between 2019 and 2022.
Explain ONE economic benefit of coal mining to the people (1x2)(2)
of South Africa.
Discuss TWO social reasons for a fluctuating labour force, that (2x2)(4
has impacted the coal mining industry from 2011 to 2022. )
Quote evidenc t suggests that coal mining

e from the extract that sugg (1x2)(2)

may be replaced by alternative sources of energy.

Explain how the environmental advantage of global coal phase
out from 2030 would have a negative economic impact on South
(2x2)(4)

Africa.
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Ndustrig| Development Zone,

AL
SALDHANA u;z.;_ sg_gﬁms INVESTMENTS: A BOOST FOR INFRASTRUCTURE
MENT IN THE REGION 17 September 2023

industries and related services and will contribug
manufacturing as well as access to job opportunities, ne
national economy. Budgeted against R529 million, the

mic growth, trading and
estern Cape but also for the
armarked to create nearly 220 job

lities. The project is set to be

2.4.1 According to the extract, state ONE aim of the Saldana Bay
Industrial Development Zone. (1x1)(1)

2.4.2 Explain ONE physical (natural) factor that would make
Saldanha Bay an ideal location for industrial development. (1x2)(2)

2.4.3 Discuss the negative impact that these new investment
agreements could have on the people of Saldanha Bay. (2x2)(4)

2.4.4 In a paragraph of approximately EIGHT lines, explain ways in
which the Saldanha Bay Industrial Development Zone has
contributed positively to the South Western Cape industrial region. (4 x 2)(8)
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e informal sector.

2.5  Refer to the photograph and extract below on th
F TOWNSHIP EC(

SPAZA SHOPS THE HUBt?
i
I
}

: X ‘ﬁ\ __-‘-_;.a_:__;_'“ i - —
The tuck shops or “spazas’, a slang word that connotes (means) ‘just getting by’ is an informal
convenience shop business in South Africa, usually run from home. They also serve the purpose of
supplementing household incomes of the owners, selling small everyday household items. Research
from Accenture Africa found that there are over 150,000 spaza shops in South Africa, and the sector
could be a goldmine for traditional retailers and fast-moving consumer goods companies. Around 80%
of South Africa’s population visits spaza shops daily, representing about 40% of total yearly food
spend. The market size of this sector is estimated to be R178 billion — far larger than the country’s
largest retailer, Shoprite’s, R149.55 billion market cap. Tiger Brands, South Africa’s largest food
company, recently announced its intentions to tap into this market by partnering with 130,000 spaza
-store owners, and it gives them

shops. They have created an online store just for traders and spaza
the ability to quickly order, pay and then collect bulk purchases from their nearest Boxer store.

Government would like to see South African-owned spaza shop owners working together and better
coordinated.

Source:https://zbfnwor!d.com/!essons-!eamf—-spaza-shops-in-south-africa

2.5.1 According to the extract, what percentage support does the

spaza shop business enjoy in South Africa. (1x1)(1)
2.5.2 Explain the main benefit of the spaza shop to the business

entrepreneur. (1x2)(2)
2.5.3 Explain TWO social advantage of spaza shop business to the

local people living in the townships in South Africa. (2x2)(4)
254 Discuss TWO ways how large business in South Africa are

supporting the spaza shop operators. (2x2)(4)
2.5.5 Highlight any ONE challenge spaza shop owners experience and

suggest how the South African government can assist them in

overcoming this challenge. (2x2)(4)

(60]

TOTAL SECTION A: 120

Please Tur

T
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SECTION B

QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES

— GENE
RAL INFORMATION ON GQEBERHA (PORT ELIZABETH

> =

(PORT ELIZABETH)

Coordinates: 33°57'S; 25°36'E

Gqeberha (Port Elizabeth)is a major seaport (harbour) and a densely populated city in
the Eastern Cape in South Africa. It lies at Algoa Bay in the Indian Ocean.

The residential area is on flat land, with an industrial sector at North End. Ggeberha is
characterised by a large number of greenbelts.

The Coega Industrial Development Zone is located close to Ggeberha. It has a world-
class infrastructure which provides for the increased accessibility of services and
industries to the rest ofthe world.

[Source: https://www.google com/search? Port Elizabeth |

The following English terms and their Afrikaans translations are shown on the
topographical map:

ENGLISH AFRIKAANS
International airport Internasionale lughawe
River Rivier

Bridge Brug

Furrow Voor

Golf course Gholfbaan

Firebreak Voorbrandstrook

Copynght Reserved
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31  MAP SKILLS AND CALCULATIONS
3.1.1 The approximate coordinates of the reservoir in block E4 on the
topographical map are ...

33°59'36"S and 25°34'25"E
35°59'36"S and 25°36'25"E
33°58'36"S and 25°37'25"E
33°59'36"S and 25°37'25"E (1x1)(1)

oOm>

3.1.2 In which direction must one travel from point 7 in block ES to
reach point 6 in block B3 on the orthophoto map?

A South east (SE)

B North east (NE)

C South west (SW)

D  North west (NW) (1x1)(1)

3.1.3 Calculate the area in m? of the orthophoto map as demarcated
on the topographical map in red. Use the following measurements:

length =4.2 cm
breadth = 3.8 cm.
Formula: Area = length(L) x Breadth(B) 3x1)(3)
3.1.4 Calculate the average gradient between spot height 59 in block B2
and spot height 57 in block E5 on the orthophoto map.
Vertical Interval (VI) (5 x 1 ) (5)

Formula: Gradient = Horizontal Equivalence (HE)

3.2 MAP INTERPRETATION
Refer to the street patterns (plans) | (B1) and G (E2/3) on the topographical map.
3.2.1 Identify the street patterns (plans) 1 and G. (2x1)(2)
3.2.2 Why is the street pattern | associated with traffic congestion? (1x2)(2)

3.2.3 How has topography influenced the layout of the street pattern 1?7 (1 x 2) (2)
Refer to the Settler's Park Nature Reserve in block D3 and D4 on the
topographical map.

324 (a) The Settler's Nature Reserve act as a green belt to prevent
(urban sprawl/ urban depopulation) (1x1)(1)

(b)  How does the local residents benefit from the location of
this Nature Reserve? (1x2)(2)

Copyright Reserved Please Turn Ove
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r to the hospital i
Refe pitalin block A4 on the orthophoto map.

3.25 (a) The hospital js located in the .

A transition zone.
B rural urban fringe,
Commercial zone,
D Industrial zone (1x1)(1)

(b)  Forest Hillis a residential area located near the hospital.

How does the location of th ital i
e hospital increase the property
value of Forest Hj||? —a o (1x2)(2)

3.3 GEOGRAPHICAL INFORMATION SYSTEMS (GIS)

Refer to the images A and B of the Prince Alfred's Guard Memorial in
Queenstown.

IMAGE A IMAGE B

3.3.1 Images A and B are stored as (pixels/symbols). (1x1)(1)
3.3.2 Which image, A or B, has a higher resolution? (1x1)(1)
3.3.3 Give a reason for your answer to QUESTION 3.3.2. (1x2)(2)

Refer to the runway labelled 6 to 7 on the orthophoto map.
3.3.4 Define the concept data layering. (1x2)(2)

3.3.5 How did the topography layer influence the construction of the
Chief Dawid Stuurman International Airport? (1x2)(2)

TOTAL SECTION B: [30)

GRAND TOTAL: 150
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SECTION A
QUESTION 1

1.1
1.1.1 Y (Range)v

1.1.2 Z (low order)v’

1.1.3 Z (urban hierarchy )v'
1.1.4 Y (central place )v

1.1.5 Y (cities )v

1.1.6 Y (threshold population)v’

1.1.7 Z (sphere of influence)v’ (7x1)(7)

1.2
1.2.1 D (situation)v’

1.2.2 D (near; scarce)v

1.2.3 C (linear)v

1.2.4 .C (topography)v’

1.2.5 A(i)and (ii)v

1.2.6. B (ii) and (iv)v

1.2.7 C (i) and (iii)v

1.2.8 B (primary and unifunctional)v’ (8x1)(8)
1.3

1.3.1 Poor housingv’
Poor harvestv’

Drought v (2x1)(2)
[ANY TWO]
1.3.2 Jobsv
Money/wealthv’
[ANY ONE] (1x1)(1)
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1.3.3 Lack of education/schoolingv'result in difficulty in competing in the job marketv’
Lack of experiencev’ to compete for jobs v
Do not have the skillsv” for the certain types of jobs offeredv’
They do not have the necessary documentationv” required to
be registered as an employeev’
Limited employment opportunitiesv” due to industries shutting downv’
(accept examples)
Rural migrants do not have moneyv” for transportation to look for jobsv’
[ANY TWO] (2x2)(4)
NB: A learner must give a factor and a qualifier

1.3.4 Decentralize industries to rural areasv'v’
Development of infrastructure v'v/
Increase subsidies for servicesv'v’
More tax relief for potential investors v'v/
Increase incentives to start up that generate employment opportunitiesv' v/
Provision of basic services (accept examples) v'v’
Increase employment of local people in rural projectsv'v’
Access to loans for farmersv'v'
Encourage small-scale commercial farmingv' v’
Increase use of drought resistant crops to be able to have productionv'v’
More facilities for agricultural extensions and research v'v/
Increase agriculturalplanning v'v/
Implement land reform programmesv'v’
Provide training,to improve skills v'v*
Provide necessary tools and technologyv v/
Promote eco-tourismy'v'
Encourage local crafts / cultural activities (accept examples)v'v'
Encourage local markets (accept examples) v'v’
Provide special incentives for non-farming activitiesv'v'
Boosting exports can create jobsv'v’
Coordination of waste recycling (wastepreneurs)v'v’
Encourage women employment in job creationv'v’
Encourage development of new industriesv'v’
[ANY TWO] (2x2)(4)

1.3.5 Young adults/economically active move / there are more
old people left behind v'v*
Decrease in the available labour pool. v'v/
Skilled people leave / brain drainv'v’
Reduces food productionv'v'
Reduces income from exports v'v’
Basic services close (accept examples)
There is a reduction in the value of propertyv' v/
Fewer economic activities (accept examples) v'v/
Decrease in employment opportunitiesv' v’
Reduce buying power (lower salaries) / less customersv'v’
Resources are under-utilized (accept examples) v'v/
Lack of investmentv'v’
Farms will be abandoned v'v
[ANY TWO] (2x2)(4)
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1.4
1.4.1 CBD v (1x1)(1)

1.4.2 High land values vV
High rentalsv'v’
Traffic congestion (inaccessible) discourages people from coming
to the CBDv'V
High levels of crime/social ills that make the CBD unsafev'v’
Lack of parking facilities creates inconveniencesv'v’
High pollution levels due to industrial activities and vehiclesv'v’
Unkept and unhygienic streetsv'v’
Lack of space for expansionv'v’
Invasion by informal traders v'v/
High competition amongst businessesv'v’

[ANY TWO] (2x2)(4)

1.4.3 ltis the future expansion area for the CBD, thus landlords do not
maintain the buildingsv'v’ (1x2)(2)

1.4.4 A variety of shops under one roofv" makes shopping convenientv’
The close proximity (to customers / markets / employees) v saves
time/costsv’
It has aesthetic appeal (accept examples) v' making it a pleasant
shopping experiencev’
Available parking spacev’ makes shopping more convenient (accept
examples) v’
Effective security/surveillancev’ makes it safer for customers (accept
examples) v’
More affordable rentals / cheaper landv” results in greater profitv’
More easily accessible (to customers / employees) v due to less traffic
congestionv’
Few shops offering the same servicev” results in less competitionv’
[ANY TWO] (2x2)(4)
NB: A learner must give a factor and a qualifier

1.4.5 Close to employment opportunitiesv’ saves traveling costs / timev’
Land is cheaper v" because of pollution from industriesv’ (2x2)(4)
NB: A learner must give a factor and a qualifier

Copyright Reserved Please Turn Over
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1.5
1.5.1 An informal settlement is an illegally built settlement without
proper infrastructure or services and amenities (like running
water, sanitation and electricity) v'v/
[CONCEPT] (1x2)(2)

1.5.2 Employment opportunities are plentiful v/ (1x1)(1)

1.5.3 Lack of aceess to piped waterv'v’
Lack of sanitationv'v’
Lack of solid waste managementv'v’
Exposure to toxic fumes v'v'
Lack of electricity v'v’
[ANY ONE] (1x2)(2)

1.5.4 Natural vegetation is cleared to build shacksv'v'
Soil erosion is accelerated by the removal of natural vegetationv'v’
Smoke from open fires released into the atmosphere reduces the
quality of airv'v’
Dumping of litter in the environment contributes to the spread of
diseasesv'v’
[ANY ONE] (1x2)(2)

1.5.5 They did not provide low-cost housingv” because of the shortage of
available land / budget constraintsv’
Infrastructure (accept examples) cannot be built v'because there is
no space to construct the roadsv’
No basic services / amenities (accept examples) v were supplied
due to budget shortfallsv’
Did not create enough job opportunities v" because of a lack of
investmentv’
Inadequate policing to combat crimev” due to poor planning v
Did not allocate finance for improving conditions of people living
in informal settlementsv” due to budget constraintsv’
Alleged corruptionv” which leads to a possible misappropriation of financesv’
Unqualified people managing these projects (which are delayed) v
as a result of nepotism / cronyism v/
Limited programmes for upskilling of communitiesv” due to
budget constraintsv’
People are forced to remain in informal settlementsv” due to land
tenure issuesv’
[ANY FOUR] (4 x2)(8)
NB: A learner must give a factor and a qualifier
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QUESTION 2

2.1
2.1.1 C (tertiary)v

2.1.2 C (erratic rainfall)v

2.1.3 A(gross domestic product)v’
2.1.4 C (Market orientated)v’
2.1.5 D (ii) and (iv)v

2.1.6 C (Dense population)v

2.1.7 B (i) and (iv)v (7 x 1)(7)

2.2
2.21 Y (trade)v

2.2.2 Z (import)v

2.2.3 Y (balance of trade)v’

2.2.4 Y (local trade)v

2.2.5 Z (trade agreement)v’

2.2.6 Y (negative balance of trade)v’
2.2.7 Y (formal sector)v’

2.2.8 Y (SDI)V (8x1)(8)
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2.3
2.3.1 Mpumalangav (1x1)(1)

2.3.2 3320V (94 297 - 90 977) (1x2)(2)

2.3.3 Generates foreign exchange through exportsv'v’
Burning of fossil fuels like coal contributes to energy generationv'v’
Generates employment, provide jobs for many peoplev'v’
[ANY ONE] (1x2)(2)

2.3.4 HIV/Aids has resulted in many skilled and unskilled workers being
lost to the minesv'v’
HIV/Aids decreases production as workers frequently stay away
or are too sick to workv'v'
Strike action for better wages and benefits (accept examples) have
made mines unprofitable and forced to shut downv'v’
Faction fighting among miners of different nationalities causes
absenteeism and production to stopv'v’
[ANY TWO] (2x2)(4)

2.3.5 Calls to decrease the world’s dependence on coal as an energy
sourcev'v’
Lower use would reduce greenhouse gas emissionsv' v’
less demand would lower the environmental risk of coal miningv'v’
[ANY ONE] (1x2)(2)

2.3.6  Embracing renewable sources of energyv” would result in mass job
losses in the coal mining industryv’
This would affect employment in other sectors (secondary/tertiary)
of the economyv” thereby affecting the GDPv
Disinvestment in coal mines by foreign ownersv” would reduce the
income generated by taxesv’
South Africa would lose income earned by foreign exchangev” as
production in mines decreasesv’
Costly infrastructure purposely built for processing (power stations)
and exporting (Richards Bay terminal) v* would be rendered obsoletev’
[ANY TWO] (2x2)(4)
NB: A learner must give a factor and a qualifier
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2.4
2.4.1 Improving educationv’
Social welfarev’
Housingv’
Sanitationv’
Economic development v
Other services v (1x1)(1)
[ANY ONE]

2.4.2 Extensive flat land for industrial developmentv'v'
Natural harbour (bay) and deep water port enabled low construction costsv'v’
[ANY ONE] (1x2)(2)

2.4.3 Locals may not have the necessary skills/qualifications to qualify
for these jobsv'v
Skilled workers from other areas would be eligible for these
employment opportunitiesv' v’
May result in nepotism, bribery and corruption to secure jobsv'v’
Foreign investment is susceptible to changes in world markets
that may cause shutting down of these companiesv'v’
Job losses may result from smaller businesses closing because of
competition with these big businessesv'v’ (2x2)(4)
[ANY TWO]

2.4.4 Contribute to infrastructural development (roads, railway lines etc.)
linking the regionv'v’
Oil and gas industry has the potential to expand to the West Coast
SDIvv
Wind farms in the area has contributed to the amount of renewable
energy available in the regionv'v’
Reduced unemployment by increasing the number of jobs available
for the entire regionv'v’
Contributed to the upskilling of the labour pool that are available now
for jobs in the regionv'v’
Attracted skilled labour from other parts of the country and world to
the region v'v/
It has attracted international investment who may look to expand
business opportunities in the entire regionv'v’
Increased exports from the region that adds to the Gross
Geographical Product (GGP) v'v (4x2)(8)
[ANY FOUR]
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2.5
251 80 %Y (1x1) (1)

2.5.2 Supplementing household incomes by selling small everyday
household itemsv'v’ (1x2)(2)

2.5.3 Provide convenience goods to local people at affordable pricesv'v’
Offer credit to customersv'v’ (2x2)(4)

2.5.4 They've created an online store just for traders and spaza-store
ownersv' v’
It gives them the ability to quickly order, pay and then
collect bulk purchases from their nearest Boxer storev'v’
Sell goods to spaza-shop owners at discounted (cheaper) prices v'v'(2 x 2) (4)

2.5.5 Challenges
Lack of training v'v
Lack of trading permits v'v
Harassment by city officials v'v/
Access to bank loans vV
No insurance cover v'v'
No storage facilities v'v’
Unhygienic facilities v'v

Strategies
Assist small businesses to play an active role in providing trainingv'v’
Issue trading permits to regulate the businessv'v’
Encourage partnership between private sector and the informal
traderv'v’
Prevention of harassment by city officials/ law enforcement officials v v/
Provide easier access to bank loansv'v’
Secure insurance coversv' v’
Provide storage facilitiesv'v'
Contribute to the income of the city by paying taxesv'v’
Ensure clean/hygienic facilitiesv'v’ (2 x2)(4)
[MUST INCLUDE AT LEAST ONE CHALLENGE AND ONE STRATEGY.
THE STRATEGY MUST SUIT THE CHALLENGE IDENTIFIED]
[60]

TOTAL SECTION A: 120
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SECTION B

QUESTION 3
3.1  MAP SKILLS AND CALCULATIONS

3.1.1 D (33°59'36"S and 25°37'25"E)v (1x1)(1)
This question has been removed due to technical error

3.1.2 D (North west (NW))v (1x1)(1)

3.1.3 Area =length x breath
= (4.2 cm x 500) x (3.8 cm x 500)
=2100v" m x 1900 vm
= 3990 000 m?v’ (3x1)(3)

Vertical Interval (VI)
Horizontal Equivalence (HE)

3.1.4 Gradient =

VI =59 - 57
=2mv
HE =15.8v cm x 100 (Range 15.7 cm — 15.9 cm)
=1580 mv
2
G = Tse0
=1
~ 790
=1:790v (Range 1: 785 — 1: 795) (5x1)(5)

3.2
3.2.1 |- Grid ironv’
G - Planned irregularv’

3.2.2 Too many intersections/stop and start. v'v/ (1x2)(2)
3.2.3 Flat land enabled easy construction of roads with little

engineeringv'v’ (1x2)(2)
3.24 (a) Urban sprawlv (1x1)(1)

(b)  Abundant wildlife leads to tourism of the areav'v’
The green areas allow for purification of airv'v’
The green areas improve the aesthetics of the areav'v’
Prevents uncontrolled urban expansion (urban sprawl) v'v' (1 x 2) (2)
[ANY ONE]

3.25 (a) B (Rural urban fringe) v
(b)  Close proximity to medical care add value to propertiesv v’

Competition for residential space increase property values. v'v/
[ANY ONE] (1x2)(2)
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3.3
3.3.1 pixels v (1x1)(1)

3.3.2 AV (imageA) (1x1)(1)

3.3.3 Image A has a higher degree of clarity v'v'
Image A is of better quality v'v’
Image A has many smaller pixels v'v/
[ANY ONE] (1x2)(2)

3.3.4 When different kinds of information are placed one on top of the
other to see the overall picture. v'v’
[Concept] (1x2)(2)

3.3.5 The topography of the area was flat as indicated by the contour
lines being far apart, hence cheaper to construct the airport. vv- (1 x2)(2)

TOTAL SECTION B: [29]

GRAND TOTAL: 149

This question paper is out of 149 marks.
The learner’s mark will be divided by 149 multiplied by 150.
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1.3.5 To add increase security/protection
1.4.5 To add limited parking space in the CBD limit accessibility to customers

To be removed historically important buildings/ heritage sites need to be preserved and
city planning has to be accommodating

Part marking accepted as the question attracts a factor and qualifier. Only accept the
factor in part marking not the qualifier.

2.4.3 To add increased food security
Job creation
Skills development/ gain experience in the work place

2.4.4 Part marking accepted as the question attracts a factor and qualifier. Only accept
the factor in part marking not the qualifier.

2.5.4 Often do not adhere to municipal rules
2.5.6 Irregular/ erratic income/less profit

Lack of storage facilities leads to less profit



